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OUTKELHKNV: 134789 INBELKV: 101214151618
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' b I T BG AH
HEGE I Y Aih 51 47 98 22.8 752 ANE
3 fir HA A 54 43 97 21.6 754 ANE
4 fir Hh Et o 49 46 95 19.2 75.8

5z AR R0 50 43 93 16.8 76.2 ANE

6 fir B A% 47 45 92 15.6 76.4

7 7 FARR Tk 47 49 96 19.2 76.8 ANE
8 iz ERLIRTIS 46 48 94 16.8 77.2

9 fir B H— 59 46 105 27.6 774

10 fiz NTREPS 48 44 92 144 77.6 ANE
11 % P 52 45 97 19.2 77.8

12 {7 BH A 56 41 97 19.2 77.8

13 {7 e 15 50 47 97 19.2 77.8

14 iz R R— 60 43 103 252 77.8

15 fiz JAFE ] 55 51 106 27.6 78 4 TRE
16 fiz i) b SR 45 48 93 144 78.6

17 fiz R R— 56 48 104 252 78.8

18 fiz R 51 50 53 103 24.0 79.0

19 fif SR Y 46 47 93 132 79.8

20 iz REHE A = 51 48 99 19.2 79.8 TRE
21 iz BARIK 47 50 97 16.8 80.2

22 fif ESUR 48 52 100 19.2 80.8

23 fir I K1k 52 50 102 20.4 81.6

24 fif NS RN 63 47 110 27.6 82.4 B BH
25 fir N 57 50 107 240 83.0 BMH




